[HR] e $H0 25T 93,
DoPARL Ye (mb-TFcoso
-20.) (5mb- 3 (056) +3 (>
2T« Yo AR 1':%7&.50
GEL 0028 w45,
(1 1=5M0-[3¢040 vh3ea
Lotid b8 &I W30t ) )l

\

7 ey,

[

BRI RTL >

1=5mg-J3 0050 2fxdbli

?TC\(V? 5. /B Lsh

L .

O Swmh-bcoso

1

= oy s ot )
b

B it NS

Ja‘+b‘
A

L

il =

L, i
C090<:

tHEFX rFe

"

t= [ 7B sm(0+ o)
= 2 SM(@*“@Z() i

O{/l 9/’/’)0(:1\_/“};,_
2

COS=

M| N

1"

s

“l ™

EHET SE - X

[’2*&;4/9"‘?)

- e w om e = eme




f=7Sm (@w%) l)tﬁmf YA VY)(O\)*JH
| 1 cd m(R) 2o S,

3k 1 st o
- N CAFZL BFE

— ZK (”/) | Cji ,9 Eﬁ‘ Lé}‘?

- -9~ ®gue

& ﬂ
<, I (50 050-20) -
' VAAANAANAAAANS

20t3g Dtdes 5 _;;'

[z 0-Foan | (GmO-Tcose) +3

ViAAAANAANAANIANS
W
T

g*<€~20\)«ﬁ1—3

Sm(6-F) =) enson | =100t 3

(9” '}75 g %’7( 2¢d Lo 2K M5 e s 12 |
e 2 o 2B ey
@: -%7( -+ '}" ;5(’; /ég;}) \/
/ W .
- -—*/—9—-7( ] E Oxl ot Todt E tfns
° 2 y NG e /
= | 1= sinH-{3¢050 -
[F1PcwE -2 | .
| & ’ZQM(@W‘;)
O a5k e |




Fewsy

Yet-2a1+3

-2¢0 ¢ 9

Do (1-20T +\-07) 3

= (t-0) -3 .
TRE, (0, N3

T FR0E () inga\;ﬁ

Fa (=0 =39 FL VB 6

Lri2r 5 5 v o

'%\]\?:ﬁi 2 L0 aea

m()= ~\N+3 @),

| 121 9<h 2%

P LI [=Zaes
m (o) = 7-20x7 +%
T 40T B,




|57 Ag2aea
m(k)=%4a+7
-9 S Zacd
m(a)=-A+3
2 < Qoars
m(Q)=—4A+ 7

112 m () 2IcKy8 thotdg

@0’?5@:@ fﬁ?:mjat

m ()

= 4,@\4-’7

SWCRN) 951 VA o 3 @

—

70130 @%c&”d

W\I(O\)"B
(

—ag2ag M (N (2




Y4=%

.
)%
pEN

Mma)--Q+3-3
/N
e,
=0

SOF Qoed b3

K1z

Y-t-20L+3
D=0t st L
Jr+3
2

—o1 Yo bl Zasy

| M-(&) (Z, lgfm%"\hfgéffﬁéjt

05 |
L2 m(&)zj 73

5

3-t+3
t=0
t- 0.

t=2Sin(HO- gi) o [ (2
\ VA%

0% 5% X

NN~

§
| 0:23:%(@'*75‘:})

&“m(@—%g)’;a

- 5= 0, %
.
7 | -
g - 3, ?Kw‘“%z
— 7

z’ﬁ
O 5., 37




